Tous les résultats pour les isotopes du Fer

Fer 46 (Z=26, N=20) Fer 47 (Z=26, N=21)
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Fer 48 (Z=26, N=22) Fer 49 (Z=26, N=23)
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Fer 50 (Z2=26, N=24) Fer 51 (Z=26, N=25)
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Tous les résultats pour les isotopes du Fer

Fer 52 (Z=26, N=26) Fer 53 (Z2=26, N=27)
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Fer 54 (Z=26, N=28) Fer 55 (Z=26, N=29)
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Fer 56 (Z=26, N=30) Fer 57 (Z=26, N=31)
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Tous les résultats pour les isotopes du Fer

Fer 58 (Z=26, N=32) Fer 59 (Z=26, N=33)
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Fer 60 (Z2=26, N=34) Fer 61 (Z=26, N=35)
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Fer 62 (Z2=26, N=36) Fer 63 (Z2=26, N=37)
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Fer 64 (Z=26, N=38)
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Fer 66 (Z2=26, N=40)
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Fer 68 (Z2=26, N=42)
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Fer 65 (Z=26,

Tous les résultats pour les isotopes du Fer

T 1507 T © T
i 1 o Protons ~ rotons
Bs 31k Newtons c of Neutrons
/ b St 1 &
a e = 2 Zoo
< ul 5 T
Protons <, | i
N\, Neutrons =
A B .
AT
T e
Protons ]
Protons Neurons

Netrons

E (MeV)

M., (& MeV™)

o - =4 ]
10 4 °
£ s
oo 4 w
g0 [
N
ol R
Lol
05 00 05 10
HFB-D1S Bruyéres-le-Chétel
Fer 67 (Z=26, N=41)
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Fer 69 (Z2=26, N=43)
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Tous les résultats pour les isotopes du Fer

Fer 70 (Z=26, N=44)
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Fer 72 (Z=26, N=46)
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Fer 74 (Z2=26, N=48)
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Fer 73 (Z=26, N=47)
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75 (Z=26, N=49)

e T T T T @ el
s 2PN Protons P Protons
8 Sk Neurons]  ~3oF A Tl Neutrons
/ s 3 <
/ - o - ~ =
N - < 5h [ 1 Soof B
g 5 / <
Protons € b N
N, Neurons & 2 B!
i€ OB ] \ 0 5 10 15
manan; o |
T (————. VAN NI 1 (fm)
s
T 2 g Protons 4 T T Protons
2 Neutrons 15
Protons =
Neutons ]

ZPE (MeV)

HFB-D1S Bruyéres-le-Chatel




Tous les résultats pour les isotopes du Fer

Fer 76 (Z=26, N=>50) Fer 77 (Z=26, N=51)
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Fer 78 (Z=26, N=52) Fer 79 (Z=26, N=53)
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Fer 80 (Z2=26, N=54) Fer 81 (Z=26, N=55)
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SRY (fm’)

Tous les résultats pour les isotopes du Fer

Fer 82 (Z=26, N=56) Fer 83 (Z=26, N=57)
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